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GEOGRAPHY

Paper III

Time Allowed : 2% Hours] | [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

I Which one of the following is a “Buffer state” ?

(A) Sri Lanka (B) Pakistan
(C) Nepal (D) None of these

2. “Kyoto Protocol” an agreement signed by various countries, is associated
with :

(A) International trade
(B) Deep sea oil and mineral exploration
(C) Clean environment and climate change

(D) Building common food stock to save human beings from any natural

disaster
3. “Kame” 1s a landform associated with :
(A) Wind action (B) Glacial action
(C) Wave action (D) Fluvial landform
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4, Match List-I with List-II and select the correct answer from the codes given

below :

List-1 List-II
(@) Cirrus (1) Feather
(6) Cumulus (2) Heap
(¢) Stratus (3) Layer type
(d) Nimbus (4) Rain cloud
Codes :

(a) (b) (e) (d)

(A) (1) (2) (3) (4)
® o’  © @)
(C) 3) (1) (4) (2)
(D) (4) (3) (2) (1)

5. In the Koeppen system Polar climate is designated as :

(A) F (B) E

(C) T D) B

T.B.C. : 06/17/ET—III 4
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6. The name “Hurricane” is given to tropical cyclones in :
(A) The North Pacific Ocean (B) Australia
(C) The North Atlantic Ocean (D) The Bay of Bengal

7. The current produced by upwelling of cool water off the coast of Chile and

Peru is known as :
(A) Humboldt current
(B) Agulhas current
(C) El Nino
(D) Canary current
8. Which of the following statements are correct about Mozambic current ?
(1) Warm current
(2) Part of equatorial current of Indian Ocean
(3) Flow towards south
(4) Joins Agulhas current
Codes
(A) (1) and (2)
(B) (2), (3) and (4)
(C) (1), (2) and (3)

(D) All the above are correct
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9. The term “Biosphere” was first used by :
(A) Hutchinson (B) Edward Suess
(C) Odum (D) None of these

10.  Which of the following soils is most suitable for the cultivation of cotton in

India ?
(A) Laterite soil (B) Red soil
(C) Regur soil (D) Loamy soil

11.  Consider the following :
(1) Naini lake — Tectonic wetland
(2) Loktak lake — Oxbow wetland
(3) Lonar lake — Crater wetland
(4) Chilka lake — Lagoon wetland
Which among the above is/are correct match ?
(A) Only (1) and (3)
(B) Only (2) and (4)
(C) Only (1), (2) and (4)
(D) All the above are correct
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12. Consider the following :
(1) Jharia coal field
(2) Korba coal field
(3) Umaria coal field

The correct representation of the states in which they are located is as

follows :

(A) J’harl;hand, Chhatisgarh, MP
(B) M.P., Jharkhand, Chhattisgarh
(C) M.P., Chhattisgarh, Jharkhand
(D) Chhattisgarh, M.P. Jharkahnd

13.  Which of the following cities is/are located in on the bank of Damodar

river 7
(A) Jamshedpur (B) Asansol
(C) Manoharpur (D) Ghatshila

14, Which one of the following is not a glaciofluvial depositional feature ?
(A) Drumlin (B). Esker

(C) Horn _ (D) Kame

T.B.C. : 06/1T/ET—III 10
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16.

18.

19.

Normal cycle of erosion is associated with :
(A) Glacial erosion (B) Fluvial erosion
(C) Marine erosion (D) Wind erosion

The Equatorial forests of the Amazon basin in South America are known

as

(A) Selvas (B) Taiga

(C) Pampas (D) Tundra

“Cinder cone” is a phenomenon related to which of the following ?
(A) Tides (B) Whirlpool

(C) Tropical storms (D) Volcanoes

Which of the following countries is known as Pear] of the Caribbean sea ?
(A) Cuba (B) Anguilla

(C) Bahamas (D) Jamaica

The word “El Nino” comes from which among the following languages ?
(A) Arabic (B) Spanish

(C) Portuguese (D) Japanese
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20.  Which one of the following softwares is not a GIS software ?
(A) AutoCAD -~ (B) Map Info
(C) ERDAS (D) Arc View

21. The scale on the Arial Photography is variable on account of which of the

following :
(A) Texture of the object.
(B) Shadow of the object
(C) Relief of the ground
(D) Shadow and relief of the ground
22.  Consider the following statements and identify the correct one ?
I.  Lower layers of atmosphere have low pressure.
II. Higher layers of atmosphere have high pressure.
Codes :
(A) I only
(B) II only
(C) I and II

(D) None of the above

T.B.C. : 06/17/ET—III 14
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23.  Match List-I with List-IT and select the correct answer using the codes given

below :
List-I List-I1
(@) SPOT (1) India
(6) GOES | (2) France
(¢) Meteor-3 (3) Russia
(d) INSAT (4) U.S.A.
Codes :
(a) (b) (c) ()
(A) (2) (4) (3) (1)
(B) (2) (4) (1) (3)
(C) (4) (2) (3) (1)
(D) (4) (2) (1) (3)

24.  Which one of the following is the largest in areal extent ?
(A) Cultural realm
(B) Cultural region
(C) Cultural landscape
(D) Cultural point

T.B.C. : 06/17/ET—III 16
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25.

26.

21.

28.

29.

The concept of “Paradigm” was propounded by :
(A) Kant (B) Peet
(C) Kuhn (D) Haggett

The Sex-ratio (females/thousand males) for Himachal Pradesh in 2011 census

was between :

(A) 900 — 950 (B) 950 — 1000

(C) 1000 — 1050 (D) 850 — 900

The longest highway of India is :

(A) NH-10 (B) NH-26

(C) NH-50 ~ (D) NH-7

What is the name of mid-latitude grasslands in South America ?
(A) Pampas (B) Prairies

(C) Veld (D) Steppes

20 kms on the ground is shown by 2 ¢m on the map. What is the R.F. of

the map ?

(A) 1 :100000
(B) 1 : 200000
(C) 1 : 1000000

(D) None of the above

T.B.C. : 06/17/ET—III 18
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30. Under the standard normal curve, within + 3 S.D of the mean, the proportion

of the observation is given by :
(A) 100%
(B) Between 99% — 100%
(C) Between 95% & 99%
(D) None of the above
31. In Lérenz curve, the line of perfect equality is drawn at an angle of :
(A) 45° | B) 60°
| (C) 75° D) 30°
32. Which one of the following is true ?
(A) Type I error and level of significance are same
(B) Type II error and level of significance ax:e same
(C) Type I error and confidence level are same
(D) None of tﬁe above

33. A rural area surrounding the urban catchment of large cities or agglomerations

is referred to as :
(A) Hinterland (B) Rural-urban fringe

(C) Boundary ' (D) Geographical area
T.B.C. : 06/17/ET—III 20
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34.  Ozone layer is situated in which layer of atmosphere ?

(A) Troposphere (B) Ionosphere

(C) Stratosphere (D) Mesosphere
35.  The “Progressive Wave Theory” of tides was postulated by :

(A) William Whewell (B) Daily

(C) Darwin (D) R.A. Harris
36. Arrange the following in terms of decreasing “albedo” :

1. Fresh snow

2. Glacier ice

3. Pine forest

4.  Silty loam

Codes :

(A) 1,2, 4,3

(B) 1,4, 2,3

(C) 2,1,4,3

D) 2,4,1,3

37. Who among the following is regarded as the founder of 'Exceptionalism' in

Geography ?
(A) Blaut (B) Haggett
(C) Harvey (D) Hartshorne

T.B.C. : 06/17/ET—III 22
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38.  Geographical area formed on the basis of intensity of connection between nodes

and surrounding areas are referred to as :
(A) Formal regions
(B) Functional regions
(C) Ad-hoc regions
(D) None of the above
39.  When was the first synchronous Census of India population held ?
(A) 1872 (B) 1881
(C) 1891 (D) 1911

40.  Which among the following is NOT a criterion for defining an urban settlement

in India ?
(A) Population size
(B) Density of population
(C) Occupation of peuplé
(D) Site characteristics
41. The “Gaddis” are :
(A) Traders of Himachal Pradesh
(B) Traders of Rajasthan
(C) Shifting cultivators of Arunachal Pradesh
(D) Shepherds of Himachal Pradesh

T.B.C. : 06/17T/ET—III 24
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43.

44.

The distance travelled by people in order to obtain goods and services is called :
(A} Hierarchy (B} Range of a Good
(C) Threshold (D) Area of City Influence

Which one of the following has been the oldest Remote Sensing

programme ?
(A) INSAT (B) LANDSAT
(C) SPOT (D) NOAA

Match List-I with List-IT and select the correct answer using the codes given

below :

List-I List-II
(@) Abrasion (1) Cirques
(b) Plucking (2)  Groovings
(¢) Deflation (3) Ponors
(d) Solution (4) Desert pavements
Codes :

(a) (b) (e) (d)

(A) (2) (1) (4) (3)
(B) (1) (2) (4) (3)
(C) (2) (4) (1) (3)
(D) (2) (1) (3) (4)

T.B.C. : 06/17T/ET—III 26
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45.

46.

47.

48.

The famous vline'/divide running between Bali and Lombok and Borneo and

Celebés is called : 

(A) Adam’s line

(B) Wallace's line

(C) Line of best fit

(D) Line of perfect equality

The force deflecting the moving bodies on earth's surface towards left or right

is known as :

(A) Force of gravity "~ (B) Frictional force

(C)  Deflective force | (D) Corioiis force

What is the theme of the 2018 'World Wetland Day' (WWD) ?
(A) Wetlands for Tourisrﬁ |

(B) Wetiands for our Future-Sustainable Livelihoods

(C) Forests and Wetlands

(D) Wetlands for Sustainable Urban Future

Which among the foll;)wing is known as “Doctor Wind” ?

(A) Loo : (B) Harmattan

(C) Chinook (D) Bora

T.B.C. : 06/17/ET—III 28
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49.  According to Census of India (2011), the highest literacy rate states/UTs

are :
(A) Kerala, West Bengal ‘and Goa

.(B) Kerala, Mizoram and Goa

(C) Kerala, Lakshadweep and Mizoram
(D) Kerala, Goa and Chandigarh

50. Which one of the following pairs (dams/lakes with river) is not correctly

matched ?
(A) Govind Sagar — Satluyj
(B) Kolleru Lake — Mahanadi
(C) Ukai Reservoir — Tapi
(D) Wular Lake — Jhelum
.51. ‘Oceania’ is a name used to refer to the widely scattered islands of :
(A) Central and Sbuth Pacific Oceyan,
(B) West Pacific Ocean
(C) North and East Pacific Ocean

(D) None of the above

TB.C. : 06/17/ET—III 30
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(D) =T, M, AR =TvEg
50. =1 # @ SF3 gW (aivsia ok w&) gifea T8 & 2
(A) ™= IR — Taas
(B) wH® Hdl — HaFRI
(C) HE Semer™ — dardt
(D) IR #ed — Fem
51.  ‘“erfifrn’ 9w @ wame w@m e fae gu gl | wefify s € 2
(A) =9 wd Sfam g weEER
(B) ufv"d wem=i HErErm
(C) mﬁn_ﬁmm

(D) 39gw H w1 T
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52. In which range is the ‘Darma Pass’ located ?
(A) Ladakh (B) Karakoram
(C) Zaskar (D) Kailash

53.  Match List-I with List-II and select the correct answer using the codes given

below :

List-I | List-11I
(@) Rainforest Research Institufe (1) Allahabad
(6) Institute of Forestry Research (2) Jorhat

and Human Resource Development
(¢c) Institute of Forest Genetics and (3) Coimbatore
Tree Breeding

(d) Centre for Social Forestry and Eco- (4) Chhindwara

Rehabilitation
Codes
(@) (b) (c) (d)
(A) (2) (3) 4) (1)
(B) (2 (4) 3) (1)
© @ (3) (1) 4)
O @3 2) (4) (1)
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52. fwm ooft § ‘ool @' fem ¥ 2
(A) TREE (B) U
(C) ST - (D) e
.53. aiferent 1 3R @ferest 11 &1 |er frem sifse qon = fd 8 =52 @ odt 39 =
=TI HifT :
drferent 1 a.rl%mII
(@) SofEd FTEUH TEIH (1) 3eRER
(b) =il ITEYUR T °HE GHIEA

foprg &% (2) WIREE

(@) wrfss aiffenl oR wafewo e (4)  fesere

T
HE
(@) (b) () (d)
(A) (2) (3) (4) (1)
(B) (2) (4) (3) (1)
(C) (2) (3) (1) (4)
(D) (3) (2) (4) (1)
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54.  ‘Dolichocephalic’ people are generally :
(A) Long headed
(B) Medium headed
(C) Broad headed
(D) None of the above

556.  The spread of cultural elements or complexes from one society to another is

called :
(A) Diffusion (B) Acculturation
(C) Assimilation (D) Transmission .

56.  Which one of the following statements isfare correct ?
1. There is no primate city in India
2. The large size of India is responsible for absence of primate cities
Codes :
(A) Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2
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54. ‘‘SifeEdefas’’ @ AR W AW ¥ .
(A) @ e
(B) wemq fqX 9
(C) =2 fa =
(D) 39gF 4 § wE 7
55. UF WA W TW AN ¥ faufa wigfaw @wi @1 T # oo ¥
(A) W& (B) H&pfa wawm
(C) SATHHR FHTA (D) B0 T
56. ffafes & wFe 1 v ¥ 2
1 9§ = weAe fEE 96 R
2. YRA #1991 AR, yeHe ft 1t emufefy & R famenr ¥
FT
(A) #Had 1
(B) Had 2
(C) =M1 &K 2

M) I@ 17 %2
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87. The tertiary activities in India represent :
1. Construction, Trade, Commerce and Services
2. Transport, Storage and Communication

3. Household Industry and Manufacturing

Codes :

(A) Only 1
(B) 1 and 3
(C) 1 and 2

(D) All of the above
58. The concept of 'Primate City' is based on :
(A) Size -- (B) Population
(C) Economic Activities (D) Employment opportunities
59. Which mountains form the group called ‘Alpine’ ?
(A) Vosges, Himalayas, Scottish Highlands
(B) Himalayas, Alps, Scottish Highlands
(C) Alps, Himalayas, Rockies, Andes
(D) Scottish Highlands, Alps, Andes
60. Spatial patterns of settlement are :
(A) Clustered pattern (B) Uniform pattern
(C) Random pattern (D) All of these
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817.

58.

59.

60.

oA § e TR W R w0 §

1. i, =R, aftsg o) e
9. REEA, WERW ¥R TR

3. e @ e fafmi wH
HE :

(A)Wl

B) 13R3

(C) 132

(D) 39wt
‘grsie fadt’ @t erayRon feE W euifia § 2

(A) TR ' (B) wHEEA

(C) enfdew Torarmarg D) IR F FTEH

‘ST’ TR B BRY T e § 2
(A) T, TereE, WRIfeR BRved
(B) fenrera, omeqw, whifew wEevSH

(©) sremw, Teem, U, TR

(D) TR TEAVSH, 3Meud, TEN
afyarg & e yfaey =1 § 2

(A) Hga ufaEq (B) wH wiaEd
(C) Yeu wfoew | (D) 3 @t

T.B.C. : 06/17/ET—III | 37



61. What is the correct sequence of various bands of the electromagnetic spectrum

in' an ascending order of wavelength ?

(A) Ultraviolet — Blue — Green — Red

(B) Blue — Green — Red — Ultraviolet

(C) Ultraviolet — Red — Blue — Green

(D) Ultraviolet — Green — Blue — Red

' 62. What was the period of formation of the young fold mountains ?
(A) Carboniferous (B) Tertiary

(C) Cretaceous | (D) Triassic

63. The term ‘Abyssal’ pertains to :

(A) Coastal area (B) Shallow water zone

(C) Deep ocean floor (D) Depositional features
64. ‘Leptosome’ are :

(A) Short and stocky build (B) Large and brawry

(C) Tall and slender '(D) None of these

65. Western Ghats is known as :
(A) Pir Panjal ~ (B) Shiwalik

(C) Sahyadris | | (D) Doda Betta
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61. e & N %9 ¥ foga-gww avigw & fafv= 9T @1 9@ 3w

T ?

(D) T — B — el — ™

62, M Sfed veq & i @ w w@w o ?

| (A) HTfTEE - (B) RE
(©) T ‘ D) feufes

63. ﬁaﬁav(mﬁ)ﬁmﬁ@maﬁm %7

A) T o ®) fosd W @ A

(€) TR WEE T D) Trdrees Tt
64 ‘“awEm ¥

(A) o 3R TSRl =T (B)Wﬁfqa‘araﬂ‘

(C) o R wden (D) AR A

65. ‘‘ufvedl "' % WA S O®
(A) dRUSTS | (B) Tmarfas
) "z | (D) A
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66. Permeability of soil is a function of its :

67. Match List-I with List-II and select the correct answer using the codes given

1. Porosity
2.  Structure
3. Depth
4. Colour
Codes :
(A) 1 and 3
(B) 1, 2 and 3
(C) 2 and 3
(D) 1 and 2
below :
List-1
(Concept/Contribution)
(@) Behavioural Approach (1)
(b) Areal Differentiation (©
" (¢©) Locational Analysis (3)
(d) Diffusion of Innovation (4)
Codes :
(@) (b) (c) (d)
(A) (2) 3) (1) (4)
(B) (2) (4) (1) (3)
(&) (3) (4) (1) (2)
(D) (2) (4) (3) (1)
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Haggett
Gould
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66. TSI =+t YT TF WHH ¥ .

1.
2. HEA
3. TR
4 @
®ET
(A) 1 3R 3
B) 1,2 3R 3
() 23R 3
D) 1 3R2 |
67. mlaﬂtmllaﬁgﬁ%ﬂﬁmﬁmﬁﬁﬁﬁiﬁ@@ ST FT =9
HIf
UGN atferant 11
(ST /=TT (ferg™)
(@) THTERERE YR 1) =
®) @fa fowm 2) Tes
(c) Tnifiew faversm 3) RIS
(d) TERE w YER 4) T
®E
@ ®  © @)
a @ 3) 4)) (4)
® ©® () 1) 3)
(&) 3) 4) (1) (2)
O @ ) (3) 6))
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68.  Match List-I with List-II and select the correct answer using the codes given

below :
List-I © List-II
(Climatic conditions) (Tree species)
(@) Temperate (1) Oak
() Hot Deserts @) Acacia
@ Equatorial @ .Spruce
(d) Mediterranean (4) Mahogany
Codes
(a) (b) (c) (d)
@ @ @) 3) (1)
® @ O @ @
© @ ) 3) @
D) | 3) 2) 4) (1

69. Which one of the following was NOT used as a criterion for agricultural

regionalization by Whittlesey ?
(A) Intensity of land use

(B) Objective of' farm production
(C) Degree of mechanization

(D) Crop productivity
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68. et 1 &R aifert 11 & ghfea wifae aan 9 A ™ %20 ¥ T8 IW F:1 =99
FHIT

arferent 1 drferant 11
(Sierarg, gomd ) (37 T
(a) SrEH{CHH (1) &
(b) T T @ =
() YHEREM (3) w8
(d) HfeRfA (4) R
HE
(a) () () (d)
A) @ 2) (3) (1)
B @3 (1) (4) (2)
© @ 1) (3) (2)
O  ® 2) (4) (1)
69. freforfea ¥ 4 frue feead 3 3 M oy g gFee & &9 § 7MW
T fEn mn oo ?

(A) g WM & T
(B) FfH IURA F 3¥
(C) WM =l X
(D) ®Ye IAEhH
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70.  Match List-I with List-II and select the correct answer using the codes given

below :

List-I List-II
(Landform features) (Agent formation)
(@) Truncated spur (1) Rivers
(b) Driekanters (2) Glaciers
() Poljee (3) Wind
(d) Knick Points (4) Underground water
Codes :

(@) (b) (c) (d)
(A) (3) (2) (1) (4)
(B) (2) (3) (4) (1)
(C) (2) (3) (1) (4)
D (@ (4) (1) (3)

71.  ‘“Inversion of Temperature' is most likely to occur under which of the following

conditions ?

(A) Mountain top in late evening
(B) Windy but cloudy night

(C) Calm, cloudy and humid night

(D) Calm, clear and cool winter night
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70. mIaﬂImIIaﬁqﬁ%ﬁﬁﬁqamﬁﬁﬁ@ﬁﬁﬁﬂﬁwmm
T

GUGC | GUGCI |

(FreTThfa ) (3l & &)
(@) wfed T (1) =
(b) fewrexd (2) fear
() drest (3) &RY/TEA
d) & T 4) yfrma va
o |

@  (®) (c) (d)

@ @ 2) (1) (4)
B) (@) 3) (4) (1)
© (@ (3) (1) (4)
® @ (4) Q) 3)

1. T ferfwl & @ o o foft § oo fadima 99 =1 S & 2
(A) R W & 999 gdq 9 3§
(B) qWH! &1 % WY e @ Tq
(C) wiw, #9 ik o
(D) i, @=9 iR & ovdt 1
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72.

73.

74.

Coral reefs are formed by :

(A) Voleanic rocks

(B) Marine sediments

(C) Chlorine material precipitated from sea water

(D) Tiny marine animals which construct limestone skeleton material

Which one of the following countries makes maximum use of the “geothermal

energy” 7
(A) New Zealand (B) Japan
(C) Iceland (D) Russia

Identify the correct descending order based on the scale of the map :

(A) Atlas map — Topographical map — Cadastral map

(B) Cadastral map — Atlas map — Topographical map

(C) Cadastral map — Topographical map — Atlas map

(D) Topographical map — Atlas map — Cadastral map

Consider the following statements :

1.  The Taiga biome stretches across large parts of Canada, Europe and Asia
2. Taiga is the largest biome in the world

3. A lot of coniferous trees grow in the Taiga

Which of the following statements given above are correct ?

Codes :

(A) 1 and 2
(B) 2 and 3
(C) 1 and 3

(D) 1, 2 and 3
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72. vare fufeal ffda oet € -
(A) “EETE WgE 8
(B) WSl ofaw@E ¥
(C) FEEUg FARE el 9
(D) ©1° Wqgl g W AR weEe wrnt w1 e oEd €

73. Trefafe § @ @ 2w yarda St F1 ifusad STEm Fa ¥ 2
(A) FEHee (B) 9
(C) SEHATS (D) &«

74, TETGE & AN H MER W HE EUE HH 6l UeHH &Y
(A) TEad HAfad — TEEas e — Hewgd Arfed
(B) #2w WHfaA — AW WA — TETHfaE A
(C) FTEA TAfAR — TelEHias AAfad — Tead HErEd
(D) wEFfas qRfad — TZem JHAfed — Hewd At

75. frefafes sod w fa=em s -

1. 3w 9@m Fe, [u o o & w2 fe # hen B
9. ¥ fava w1 WAy 99 99H ¥l
3. m ¥ sgame # yEad 3y Id €
I o3 ™ werl § ¥ FEw W@ T ?
e
(A) 132
(B) 2 3R 3
(C) 18R3
D) 1,2 33
T.B.C. : 06/17T/ET—III 47 P.T.O.



